[ Efficiency vs vertpos |
~ 0.05

9.045
4
20.04
(8]
$.035
[
£0.03
0.025
0.02
0.015
0.04
0.005

1.0

SUNISUO GV S D Gi 08 0 S S G 0@ (R (R

Ratio
||I—Ir!—l-.l—l—l—IIIIIIIIII.II‘!IIIIIIIIIIIII‘IIIIIIIIIIIIIIIIIIIIII

4 . - - - - -

b

o
©
a

107 1

=
2
N

10 0?
TP vertr (cr%)

—=— DQM_CKF_TTbase
Efficiend —— poMm_CKF_TT retrainOldFiles125_v2_prelimWPM_epoch0

~ 0.05
9.045
2]
0.04
o)
9,035
o
£0.03
(]
0.025
0.02
0.015
0.01
0.005
e

................................................

:'"I;;f+;;§f;+'+'+i+}#;ff

Sl R e e
E T .
— .. T —..

Ratio

- |44

[y

0¥/ =20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.05
> N R T
00.045fF - prrenrieesees A cTTTTT R e
S : : : : : :
T el A o
Bt B AR S o B S
P : : : : : : :
€ 0.03F----r-frrineeees e prrerdeeeeed A A preee
o : : : : : :
8.025
]
0.02
0.015
0.01

0.005

4

Ratio

= T .

B5 15216 5 0 5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


